Coordinate Geometry

rExercise 15E Exam Practice
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The line /; has gradient £ and passes through the point 4 (1, 4).

a Find the equation of the line /; in the form ax + by + ¢ =0.
The line /, passes through the points B (6, 0) and C (8, 4).
b Find an equation of the line 4.

The line /5 is perpendicular to /; and passes through the point 4.
The lines /; and J intersect at the point D.

¢ Find the coordinates of the point D.

The line / has equation 2x + 8y = 17 and intersects the x-axis
at the point 4.

a Find the coordinates of the point 4.

The line m passes through the origin O and is perpendicular to
the line /. The lines / and m intersect at the point B.

b Find the coordinates of the point B.
¢ Find the area of triangle O4B.

The line [ passes through the points 4 (3, 16) and B (11, 12).

a Find the equation of the line / in the form ax + by +¢=0.

b Find the coordinates of the point C, the mid-point of 4B.

¢ Show that the perpendicular bisector of 4B passes through
the origin.

The line / passes through the points 4 (72, 3) and B (6, 9).

a Find the equation of the line / in the form ax + by + ¢ =0.

The line / intersects the coordinate axes at the points C and D.

b Find the perimeter of triangle OCD, where O is the origin.

The line /; has a gradient of 3 and passes through the point4 (1, 12).

a Find the equation of the line /; in the formy =mx + c.
The line 4 is parallel to /; and intersects the y-axis at the
point 4 (0, 4).

b Find an equation of the line /, in the form ax + by + ¢ =0.

¢ Show that the area of the trapezium bounded by the lines /;,
and the coordinate axes is & .
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1 a2x-3y+10=0 by=2x-12
¢ (5,-2)

a (",0) b(h2) ¢
ax+2y—-35=0 b (7,14)
a3x—-4y+18=0 b 18
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